=
<

k) =
5] : D s A
= =
= : B 8
= . H
S or - -t °
O 1 . K =
= i H | o]
o ), - X
¢ :  []14
g o L
Lo 4 Frde - L I | A,
i
it
b
b
":
AR I AR

0 1 2 3 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—#— DQM_mkFit_XiMinusNOPU_newDefault5

—— DQM_mkFit_XiMinusNOPUold-lowpt

= A T
5 S
2 -
> S
5 5]
107t
910\-1%_....!....|....|....|....!.... 9100%
T r T
o X o
Treeeeesies IRREIRI AR (. 'y
0983 =3" -1 0 1 2 3 0983 =3" -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ 1 -
E_ N
D_)—
o
o}
107}
102
o < S
<
g
1 . b B q .
3 =2 -1 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


